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QUESTION 1

KChapman@MyCo.com needs to check out the NewAccount flow rule in the MyCoCommercialAccount:03-05-02
RuleSet in order to modify it. When it is checked out, a copy of the rule is placed in which RuleSet? (Choose One) 

A. KChapman@MyCo.com 

B. MyCoCommercialAccount:03-05-01 

C. MyCoCommercialAccount:03-05-03 

D. Pega-ProCom:05-01-10 (or current 5.1 version) 

Correct Answer: A 

 

QUESTION 2

When creating an application with both implementation and framework classes, which class would be the directed
parent of a work class in the implementation layer (e.g. MyCo-MyDiv- BankApp-Work-OpenAccount)? (Choose One) 

A. The corresponding work class in the framework layer (MyCo-FW-BankApp-Work- OpenAccount) 

B. The class group in the framework layer (MyCo-FW-BankApp-Work) 

C. The class group in the implementation layer (MyCo-MyDiv-BankApp-Work) 

Correct Answer: A 

 

QUESTION 3

A decision shape in a flow can represent either a decision or a fork. Which statement describes difference between a
decision and a fork? 

A. A decision references a rule; a fork does not 

B. There is no difference; a decision and a fork are interchangeable 

C. A fork references a Boolean expression; a decision does not 

D. A decision requires an Else connector, but a fork does not 

Correct Answer: C 

 

QUESTION 4

Which of the following is not true of a substitute operator? (Choose One) 

A. A specific operator can be assigned 
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B. A specific workbasket can be assigned 

C. A specified work group can be assigned 

D. It can be determined by a decision tree rule 

Correct Answer: C 

 

QUESTION 5

A smart shape is a preconfigured: 

A. Utility shape 

B. Assignment shape 

C. Integrator shape 

D. Notification shape when sending email 

Correct Answer: C 
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